B!
(1
C11
[]3
[11
[]1
CY/9 D!
L1
1
[]2
]2
(11
[z
[ 14
12
[11
(11
1
[]1
(11
(13
[]2
[J1
[]1
[]1
[]1
11
2
12
(11
L1
[]1

2002 to Present HARLEY-DAVIDSON™
FLHT * FLHTC « FLHTCU ¢ FL * FLT o FLHT « FLHS - FLHR

PARTS LIST

U-clamp assembly
Lower front clevis plate
5/8 -18 x3 H/H CS
5/8 flat washer
5/8 -18 nyloc nut .
Upper rear eye bracket
316 x 1 1/4 H/H CS
3/4 -16 x 1 3/8 socket head cap screw
3/8-24x11/4 H/HCS
Flat washer
3/8 -24 nyloc nut
U-clamp & pad
1/4 20 x 2 H/H CS
1/4 flat washer
1/4 20 nyloc nut
Lower rear clevis bracket
7/16 -14x 1 1/2 H/H CS Gr. #8
7/16 -14 x 1 3/4 H/H CS Gr. #8
5/8 x 18 x 3 H/H CS
5/8 nyloc nut
5/8 flat washer
lock washer
45-Degree clamp
70-Degree clamp
45-Degree boss
70-Degree boss
90-Degree adapter
Bent strut complete
Rod End, 3/4 -16 w/ 3/4 -16 jam nut
Instructions, Manual and Warranty card
Optional: Damper, 1%4” strut clamp, 2% fork leg clamp
Optional: Brake, ? X 24 double banjo bolt, brake line, and coupler

California Sidecar Parts & Service




PREPARING MOTORCYCLE TO INSTALL SIDECAR M@UN"H”S

Sinove the rroch oo T rmaimme e s b the unber and lasvar ceool oo d 1 Y
Remove the crash EuarG oy ICinoving ooth the UPPCL alld iIOWOT CTass guairg ooris

Once the crash guard bolts are removed, the thread hole in the frame needs to be
tapped out. Using a 3/8 x 16 course tap, tap from top to botiom so that a 3/8 x 16 «

Remove the 2 bolts that hold the battery box to the frame (T-40 torax) and

Place on bike frane on down tube just in front of heads high as possible al 90- o

Remove driver’s floor board on right side. Place plate in same location, then replace

STEP 1:
1) Remove scat and right side cover of battery.
b
3) Remove the battery,
4)
34 hex head bolt will thread in from the bottom side.
)
lower the battery box approximately 1/2 inch.
STEP 2:  INSTALLING UPPER FRONT UMQLAMP & EYE
[
degrees to the bike. Terque to 60 foot pounds.
STEP3: INSTALLING LOWER FRONT CLEVIS PLATE
4)
floor board.
STEP 4; INSTALLING LOWER REAR MOUNT
4)

)

6)

Remove both the upper right swing arm cap bolt and the lower left swing arm cap.
bolt. |
Place mount into position and attach with bolts that arc provided.

Attach on the right side to the weld nut on frame with the "/, bolt you removed.




STEP5: INSTALLING THE UPPER REAR MOUNT

The upper rear mount will be mounted to the frame and fastened in 3 places, It ic
recommended that you locate these 3 points and simulate where the mount will be placed

as follows.

@ Inside lower crash guard,

@ -

In front of the upper crash guard bolt.
= Left Rear side of battery box.

1) When installing leave all bolts loose.

2) Install the U- clamp assembly with bolis provided. Tt may be necessary to remove

upper crash guard bolt first. :

) Install left rear bolt of battery box with bolt provided.

) The lower hole of the mount should be between the crash guard and the frame of the
bike.

5) Then replace the upper crash guard bolt.

6) Tighten all bolts. First clamp assembly, torque the socket head cap screw 55ft. Ibs,
left rear of battery box, and the lower bolt on mount.

ted

NS

STEP6:  FINISHING UP

1) Remember to raise the battery box lowered in Step 1.5 and secure the bolts.

2) Reinstal] the battery and other items you may have loosened or removed.

3) Replace the crash guard and upper mounting bolt removed in Step 1.2. .

4) It 1s necessary to cut a notch in the battery side cover before it can be reinstalled over
the sidecar mount. Visually align the cover and mark the top on both sides of the just
mstalled upper rear mount. Once the panel cover is marked, cut the cover using the
enclosed template. :

(8]




FS 111 APROX. 62" +

FS 1 & GT APPROX. 53" + FS T & GT A
. Sidecar Wheel

STRAIGHT EDGE

i WYHEEL LEAD APPROX. B" to 147

TOE IN:
DISTANCE A SHOULD BE APPROX. 1" TO 1 1/4" LESS THAN DISTANCE B. MEASURE
FROM THE CENTER OF THE MOTORCYCLE RIM TO THE OUTSIDE OF THE SIDECAR WHEEL .

SIDECAR WHEEL LEAD:
THE ‘DISTANCE THE SIDECAR AXEL LEADS THE REAR AXEL OF THE MOTORCYCLE SHOULD

BE 8" TO 14".
NOTE: MOUNT AS FAR BACK AS THE BRACKETS WILL ALLOW.

LEAN 0QUT:
LOAD THE MOTORCYCLE AND SIDECAR WITH THE NORMAL AMOUNT OF WEIGHT TO BE CARRIE
LEAN THE BIKE QUT FROM THE SIDECAR APPROX. .1/8",

FRAME HEIGHT:

DISTANCE FROM BOTTOM OF FRAME TO GROUND.
FS I - I1 - III

APPROX. 9" FRONT
APPROX. 10" REAR

COMPANION G7:

APPROX. 9 1/2 " FRONT
APPROX. 10" REAR

NOTE: WHEN SETTING FRAME HEIGHT WITH ELECTRIC LEAN ON FRIENDSHIP 11 & I1I
HAVE AT LOWEST POSITION. ON FRIENDSHIP i AND COMPANION GT HAVE ELECTRIC

LEAN EXTEMDED OQUT 1.




T WA LL UPEN WIRE

=== YELLOKN 0PEN WIRE.-

WHITE OPEN

SROWN + WHITE CROUND e -

~fELLOW OPEN
= BEOMN. + WHITE (PEN <

BLUE + WHITE TAIL + SIDE rwm&;

— PURBLE TURN SIGNAL |

ncmmrn O

-3LUE + SLACK BRaxe

=2 BLUE + WHITE —

-—=GREEN + WHITE BACK up

BLUE + BLACK _
BLUE  + WHIT Bl

PURRLE m
GREEN + WHIT

PINK RADIO comT. LIVE

%Eﬂﬂﬁn.momg * WHI Bt

- BEOWH - %ﬁmaﬁﬂaama

BRIWN + axﬁmﬂﬂ.ﬂﬂuJ _
BLUE ~ WHITE O FRONT

BLUE + BLACK—

G BROWH + WH

|

E T

f, B

RED POSITIVE Acc. FUSE

ﬁ

RLRK

|

Q
RED POSITIVE <

—=TELLOW + BLACY LIFTING up

j/@ & —
% Y

[H
il
—

LUE LIFTING DOMi—

—TELLOF + BLAG

m——PURPLE FUEL Pump

RARIC

LIGHT

. INT. LIGHT

REAR LIGHT

OO0 spaiLer srake

M ) TRUNK LIGHT
BLUE + WHITE= , ‘
%ﬁaﬂﬂﬂﬁnmmmmm = W] TE

erﬂgﬁ

m&ﬁm@m BOX MOUNT om

LEFT HAND HANDLE BAR

FRIENDSHIP IIT SIODECAR
FRIENDSHIP 1] st

B e

amm PumMe




AR

FLHT - FLHTC - ELHTCU - FL
FLT - FLHT - FLHS - FLHR

- ( TOP VIEW )

cut out

Inside Edge
of Cover




ADDENDUM
2002 FLHT, ez,

Lower Rear & Lower Front |




ey g E% - 1993 HARLEY DAVIDSON FLT = FLHT - FLHS ..



